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Answer all the questions 

1 Solve the simultaneous equations  

3 4 17,

2 6 6.

x y

x y

− =

+ = −
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer x = ………….…… , y = …………….…  [3] 
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2 The quadrilateral ABCD is congruent to the quadrilateral PQRS. 

 AB = 6 cm, BC = 5.5 cm, AD = 8 cm, angle BAD = 85°, angle ABC = 112° and angle PSR = 77°. 

  

  

 

 

 

 

 

 

 Find 

 (a) the length of QR,  

  

 

  

 

 

 

 

 

 Answer ...……………………………… cm [1] 

 

 (b) angle BCD.   

 

 

 

 

 

 

 

 

 Answer ……………………………… ° [2] 

 

A D 

C 

B 

8 cm 

6 cm 

5.5 cm 

112° 

85° 

S 

R 

Q 

P 

77° 
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3 Rectangle B is an enlargement of rectangle A. 

 All measurements are in cm. 

  

 

 

 

 

 

 

 

 

 

 (a) Write down the scale factor of the enlargement. 

   

 

  

 

 

 

 

 Answer ………………….………………....  [1] 

  

 (b) Find the length of the unknown side of rectangle B. 

 

 

 

 

 

 

 

 

 Answer ……………………………… cm  [1] 

 

A 

 

 

B 
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4  

 

 

 

 

 

 

 

 In the diagram, AD = 7 cm, BD = 8 cm, CD = 15 cm and BC = 17 cm. 

 (a) Show that triangle BCD is a right-angled triangle.  

 

Answer ……………………………………….………………………………………………………………... 

   

…………………….……………………………………………………………………………………………... 

   

……………………….………………………………………………………………………………………....... 

   

…………………….……………………………………………………………………………………………... 

 

…………………….……………………………………………………………………………………………... 

 

....……………….………………………………………………………………………………………….. [2] 

 

 (b) Find the length of AB. 

 

 

 

 

 

 

 

 

 

 

 Answer ……………………………… cm [2] 

 

 

A 

B 

C 
D 

8 

15 

17 

7 
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5 The variables x and y are connected by the equation 2 6y x x= − − . 

 Some corresponding values of x and y are given in the table below. 

x 3−  2−  1−  0 1 2 3 4 

y 6 0 4−  6−  6−  4−  0 6 

  

 (a) Draw the graph of  2 6y x x= − − . 

  Using a scale of 2 cm to represent 1 unit, draw a horizontal x-axis for 3 4x−   . 

  Using a scale of 1 cm to represent 1 unit, draw a vertical y-axis for 8 6y−   . 

  On your axes, plot the points given in the table and join them with a smooth curve. [3] 
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 (b) Use your graph to find  

  (i) the minimum value of y, 

 

 

 

 

 Answer …………………………………....  [1] 

 

  (ii) the equation of the line of symmetry. 

 

 

 

 Answer …………………………………....  [1] 
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6 A factory manufactures toy trains. 

 It takes x minutes to manufacture a toy train. 

 (a) Write down an expression, in terms of x, for the number toy trains that the factory can manufacture  

  in an hour.  

 

 

 Answer …………………………………....  [1] 

 

 (b) The factory also manufactures toy planes. It takes one minute longer for the factory to produce a toy plane. 

  Write down an expression, in terms of x, for the number of toy planes that the factory can manufacture in  

  an hour.   

 

 

 

 Answer …………………………………....  [1] 

  

 (c) In an hour, the factory can manufacture 3 more toy trains than toy planes. 

  Write down an equation in x to represent this information and show that it reduces to  

2 20 0x x+ − = . 

 

Answer …………………………………………………………….…………………………………………... 

   

…………………………………………………………………………………………………………………... 

   

………………………………………………………………………………………………………………....... 

   

…………………………………………………………………………………………………………………... 

 

…………………………………………………………………………………………………………………... 

 

…………………………………………………………………………………………………………………... 

 

…………………………………………………………………………………………………………………... 

 

………………….………………………………………….………………………………………………. [3] 
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 (d) Solve the equation 2 20 0x x+ − = .  

 

 

 

 

 

 

 

 

 

 

 Answer …………………………………....  [2] 

 

 (e) Find the number of toy trains that the factory can manufacture in one hour. 

 

 

 

 

 

 

 

 

 

 Answer …………………………………....  [1] 

 

End of Paper 

 

 

 

 

 

 

 


